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2c We read one or more accents in L differently than BHS. Often this notation indicates a typo-

graphical error in BHS.
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a” x-morph=”OSHM:HR”����������/����|strong=”d/2474” x-morph=”OSHM:HTd/Ncbpa”
x-cantillationLevel=”0.1” strong=”6692|������� b” x-morph=”OSHM:HVhrmsa”
x-cantillationLevel=”0.0” strong=”4480|��� a” x-morph=”OSHM:HR”����������/����|strong=”d/2762”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0”� 10 strong=”6030|������
b” x-morph=”OSHM:HVqp3ms” ”strong=”1730|�/������ x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”c/559|������/�� x-morph=”OSHM:HC/Vqp3ms”
”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1” strong=”6965|�������
b” x-morph=”OSHM:HVqv2fs” ”strong=”l|��/��� x-morph=”OSHM:HR/Sp2fs”
x-cantillationLevel=”0.0.0” ”strong=”7474|�/��������� x-morph=”OSHM:HNcfsc/Sp1cs”
”strong=”3303|�/������� x-morph=”OSHM:HAafsc/Sp1cs” x-cantillationLevel=”0.0”
”strong=”c/3212|�����/�� x-morph=”OSHM:HC/Vqv2fs”��/����|strong=”l”
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0”� 11 strong=”3588|�����
a” x-morph=”OSHM:HC”��������|strong=”2009” x-morph=”OSHM:HTm”
”strong=”d/5638|���/� x-morph=”OSHM:HTd/Ncmsa” x-wType=”x-ketiv”
4 strong=”5674|������ a” x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1”
”strong=”d/1653|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1”
”strong=”2498|������ x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0”
”strong=”1980|������� x-morph=”OSHM:HVqp3ms” ”strong=”l|��/��
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0”� 12 ”strong=”d/5339|�����������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1.0” ”strong=”7200|��������

4+ ”strong=”d/5638|��������/�����/� x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.0”
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x-morph=”OSHM:HVNp3cp” ”strong=”b/776|������/�� x-morph=”OSHM:HRd/Ncbsa”
x-cantillationLevel=”1.1” ”strong=”6256|���� x-morph=”OSHM:HNcbsc”
”strong=”d/2159|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”5060|��������� x-morph=”OSHM:HVhp3ms” x-cantillationLevel=”1”
strong=”c/6963|�����/�� a” x-morph=”OSHM:HC/Ncmsc” ”strong=”d/8449|������/��
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.0” ”strong=”8085|���������
x-morph=”OSHM:HVNp3ms” ”strong=”b/776|���/�������/��� x-morph=”OSHM:HR/Ncbsc/Sp1cp”
x-cantillationLevel=”0”� 13 ”strong=”d/8384|���������/�� x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”1.1.0” strong=”2590|��������� a” x-morph=”OSHM:HVqp3fs”
”strong=”6291|��/������� x-morph=”OSHM:HNcmpc/Sp3fs” x-cantillationLevel=”1.1”
”strong=”c/d/1612|����������/��/�� x-morph=”OSHM:HC/Td/Ncbpa”
� ”strong=”5563|�������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0”
”strong=”5414|�������� x-morph=”OSHM:HVqp3cp” ”strong=”7381|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” strong=”6965|�������
b” x-morph=”OSHM:HVqv2fs” ”strong=”3212|��� x-morph=”OSHM:HVqv2fs”
x-wType=”x-ketiv” 5 ”strong=”7474|�/��������� x-morph=”OSHM:HNcfsc/Sp1cs”
”strong=”3303|�/������� x-morph=”OSHM:HAafsc/Sp1cs” x-cantillationLevel=”0.0”
”strong=”c/3212|�����/�� x-morph=”OSHM:HC/Vqv2fs”��/����|strong=”l”
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0”� � 14 ”strong=”3123|�/��������
x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”1.2.1.0” ”strong=”b/2288|��������/���
x-morph=”OSHM:HR/Ncmpc” ”strong=”d/5553|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.2.1” strong=”b/5643|�������/��� a” x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”1.2.0” ”strong=”d/4095|�����������/�� x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”1.2” ”strong=”7200|����/�������� x-morph=”OSHM:HVhv2fs/Sp1cs”
x-cantillationLevel=”1.1.0” ”strong=”853|���� x-morph=”OSHM:HTo”��/����������|strong=”4758”
x-morph=”OSHM:HNcmpc/Sp2fs” x-cantillationLevel=”1.1” 6 Marks a place
where we agree with BHQ against BHS in reading L. 7 8 ”strong=”8085|���/������������
x-morph=”OSHM:HVhv2fs/Sp1cs” x-cantillationLevel=”1.0” ”strong=”853|���
x-morph=”OSHM:HTo”��/�������|strong=”6963 a” x-morph=”OSHM:HNcmsc/Sp2fs”
x-cantillationLevel=”1” strong=”3588|���� a” x-morph=”OSHM:HC”��/�������|strong=”6963
a” x-morph=”OSHM:HNcmsc/Sp2fs” ”strong=”6156|������ x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0.0” ”strong=”c/4758|��/��������/�� x-morph=”OSHM:HC/Ncmsc/Sp2fs”
”strong=”5000|������� x-morph=”OSHM:HAamsa” x-cantillationLevel=”0”�
� 15 ”strong=”270|�������� x-morph=”OSHM:HVqv2mp”����/����|strong=”l”
x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”1.1.0” ”strong=”7776|������������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1” ”strong=”7776|������������
x-morph=”OSHM:HNcmpa” strong=”6996|���������� a” x-morph=”OSHM:HAampa”
x-cantillationLevel=”1.0” strong=”2254|������������ b” x-morph=”OSHM:HVprmpa”
”strong=”3754|���������� x-morph=”OSHM:HNcbpa” x-cantillationLevel=”1”
”strong=”c/3754|���/��������/�� x-morph=”OSHM:HC/Ncbpc/Sp1cp”
x-cantillationLevel=”0.0” ”strong=”5563|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 16 ”strong=”1730|�/������� x-morph=”OSHM:HNcmsc/Sp1cs”
5+ ”strong=”l|��/������ x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0.0.0”
6Q
7n Marks an anomalous form.
8p We read punctuation in L differently from BHS.
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”strong=”l|��/�� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.1.0”
”strong=”c/589|������/�� x-morph=”OSHM:HC/Pp1cs” ”strong=”l|��/��
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.1” strong=”d/7462|������/��
b” x-morph=”OSHM:HTd/Vqrmsa” x-cantillationLevel=”0.0” ”strong=”b/7799|��������������/���
x-morph=”OSHM:HRd/Ncbpa” x-cantillationLevel=”0”� 17 ”strong=”5704|����
x-morph=”OSHM:HR” ”strong=”s/6315|����������/��� x-morph=”OSHM:HTr/Vqi3ms”
x-cantillationLevel=”1.1.0” ”strong=”d/3117|������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”c/5127|������/�� x-morph=”OSHM:HC/Vqq3cp”
x-cantillationLevel=”1.0” ”strong=”d/6752|����������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1” ”strong=”5437|���� x-morph=”OSHM:HVqv2ms”
”strong=”1819|������ x-morph=”OSHM:HVqv2ms”���/���|strong=”l”
x-morph=”OSHM:HR/Sp2ms” 9 We read one or more accents in L differently
from BHQ. 10 ”strong=”1730|�/������ x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”0.0.1.0” strong=”l/6643|������/�� b” x-morph=”OSHM:HR/Ncbsa”
x-cantillationLevel=”0.0.1” strong=”176|���� a” x-morph=”OSHM:HC” x-
cantillationLevel=”0.0.0” ”strong=”l/6082|������/�� x-morph=”OSHM:HR/Ncmsc”
”strong=”d/354|����������/�� x-morph=”OSHM:HTd/Ncbpa” x-cantillationLevel=”0.0”
strong=”5921|��� a” x-morph=”OSHM:HR”�������|strong=”2022” x-morph=”OSHM:HNcmpc”
”strong=”1336|������ x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0”�
�3 strong=”5921|��� a” x-morph=”OSHM:HR”��/�����������|strong=”4904”

x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1.2.0” ”strong=”b/3915|���������/���
x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”1.2” ”strong=”1245|��������������

x-morph=”OSHM:HVpp1cs” x-cantillationLevel=”1.1” ”strong=”853|����
x-morph=”OSHM:HTo” ”strong=”s/157|��������/��� x-morph=”OSHM:HTr/Vqp3fs”
x-cantillationLevel=”1.0” ”strong=”5315|�/�������� x-morph=”OSHM:HNcbsc/Sp1cs”
x-cantillationLevel=”1” ”strong=”1245|�/�������������� x-morph=”OSHM:HVpp1cs/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”4672|�/��������� x-morph=”OSHM:HVqp1cs/Sp3ms” x-cantillationLevel=”0”�
2 strong=”6965|��������� b” x-morph=”OSHM:HVqh1cs” ”strong=”4994|�����
x-morph=”OSHM:HTj” x-cantillationLevel=”1.2.1.0” ”strong=”c/5437|�����������/��
x-morph=”OSHM:HC/Vmh1cs” strong=”b/5892|�����/�� b” x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”1.2.1” ”strong=”b/7784|�����������/��� x-morph=”OSHM:HRd/Ncmpa”
x-cantillationLevel=”1.2.0” ”strong=”c/b/7339|���������/���/�� x-morph=”OSHM:HC/Rd/Ncfpa”
x-cantillationLevel=”1.2” ”strong=”1245|����������� x-morph=”OSHM:HVph1cs”
x-cantillationLevel=”1.1” ”strong=”853|���� x-morph=”OSHM:HTo” ”strong=”s/157|��������/���
x-morph=”OSHM:HTr/Vqp3fs” x-cantillationLevel=”1.0” ”strong=”5315|�/��������
x-morph=”OSHM:HNcbsc/Sp1cs” x-cantillationLevel=”1” ”strong=”1245|�/��������������
x-morph=”OSHM:HVpp1cs/Sp3ms” x-cantillationLevel=”0.0” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”4672|�/��������� x-morph=”OSHM:HVqp1cs/Sp3ms”
x-cantillationLevel=”0”� 3 ”strong=”4672|����/�������� x-morph=”OSHM:HVqp3cp/Sp1cs”
x-cantillationLevel=”1.1.0” ”strong=”d/8104|������������/�� x-morph=”OSHM:HTd/Vqrmpa”

9C
10c We read one or more accents in L differently than BHS. Often this notation indicates a typo-
graphical error in BHS.
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x-cantillationLevel=”1.1” ”strong=”d/5437|����������/�� x-morph=”OSHM:HTd/Vqrmpa”
x-cantillationLevel=”1.0” strong=”b/5892|�����/��� b” x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”1” ”strong=”853|���� x-morph=”OSHM:HTo” x-cantillationLevel=”0.0.0”
”strong=”s/157|��������/��� x-morph=”OSHM:HTr/Vqp3fs” ”strong=”5315|�/��������
x-morph=”OSHM:HNcbsc/Sp1cs” x-cantillationLevel=”0.0” ”strong=”7200|���������
x-morph=”OSHM:HVqp2mp” x-cantillationLevel=”0”� 4 ”strong=”k/4592|������/���
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.2.0” strong=”s/5674|�����������/���
a” x-morph=”OSHM:HTr/Vqp1cs” ”strong=”m|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.2” ”strong=”5704|���� x-morph=”OSHM:HR” ”strong=”s/4672|����������/����
x-morph=”OSHM:HTr/Vqp1cs” x-cantillationLevel=”1.1” ”strong=”853|����
x-morph=”OSHM:HTo” ”strong=”s/157|��������/��� x-morph=”OSHM:HTr/Vqp3fs”
x-cantillationLevel=”1.0” ”strong=”5315|�/�������� x-morph=”OSHM:HNcbsc/Sp1cs”
x-cantillationLevel=”1” ”strong=”270|��/���������� x-morph=”OSHM:HVqp1cs/Sp3ms”
x-cantillationLevel=”0.2.0” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”7503|����/�������� x-morph=”OSHM:HVhi1cs/Sp3ms” x-cantillationLevel=”0.2”
”strong=”5704|��� x-morph=”OSHM:HR”��/���������/�����|strong=”s/935”
x-morph=”OSHM:HTr/Vhp1cs/Sp3ms” x-cantillationLevel=”0.1.0” ”strong=”413|���
x-morph=”OSHM:HR”�������|strong=”1004 b” x-morph=”OSHM:HNcmsc”
”strong=”517|�/������ x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”0.1”
”strong=”c/413|���/�� x-morph=”OSHM:HC/R”�������|strong=”2315”
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.0” ”strong=”2029|�/��������
x-morph=”OSHM:HVqrfsc/Sp1cs” x-cantillationLevel=”0”� 5 ”strong=”7650|���������������
x-morph=”OSHM:HVhp1cs” ”strong=”853|����/���� x-morph=”OSHM:HTo/Sp2mp”
x-cantillationLevel=”1.1.0.0” ”strong=”1323|�������� x-morph=”OSHM:HNcfpc”
”strong=”3389|�������������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
strong=”b/6643|���������/��� b” x-morph=”OSHM:HR/Ncbpa” x-cantillationLevel=”1.1”
strong=”176|���� a” x-morph=”OSHM:HC” x-cantillationLevel=”1.0” ”strong=”b/355|���������/���
x-morph=”OSHM:HR/Ncfpc” strong=”d/7704|��������/�� b” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” strong=”518|��� a” x-morph=”OSHM:HC”�����������|strong=”5782”
x-morph=”OSHM:HVhi2mp” � strong=”c/518|���/��� a” x-morph=”OSHM:HC/C”��������������|strong=”5782”
x-morph=”OSHM:HVoi2mp” x-cantillationLevel=”0.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������/���|strong=”d/160” x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0.0” ”strong=”5704|���� x-morph=”OSHM:HR” strong=”s/2654|����������/���
a” x-morph=”OSHM:HTr/Vqi3fs” x-cantillationLevel=”0”� � 6 ”strong=”4310|����
x-morph=”OSHM:HTi” ”strong=”2063|����� x-morph=”OSHM:HPdxfs” x-
cantillationLevel=”1.1.1” ”strong=”5927|������ x-morph=”OSHM:HVqrfsa”
x-cantillationLevel=”1.1.0” strong=”4480|��� a” x-morph=”OSHM:HR”����������/���|strong=”d/4057
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1” ”strong=”k/8490|�����������/���
x-morph=”OSHM:HR/Ncfpc” x-cantillationLevel=”1.0” ”strong=”6227|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” strong=”6999|�����������
a” x-morph=”OSHM:HVPsfsc” ”strong=”4753|����� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1.0” ”strong=”c/3828|���������/�� x-morph=”OSHM:HC/Ncfsa”
x-cantillationLevel=”0.1” ”strong=”m/3605|�����/�� x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”0.0” ”strong=”81|�������� x-morph=”OSHM:HNcfsc”
”strong=”7402|������� x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”0”�
7 ”strong=”2009|������� x-morph=”OSHM:HTm” x-cantillationLevel=”1.1.1”
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”strong=”4296|���/������ x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1.1.0”
”strong=”s/l/8010|���������/���/��� x-morph=”OSHM:HTr/R/Np” x-
cantillationLevel=”1.1” ”strong=”8346|���������� x-morph=”OSHM:HAcbpa”
”strong=”1368|����������� x-morph=”OSHM:HAampa” x-cantillationLevel=”1.0”
”strong=”5439|������� x-morph=”OSHM:HNcbsa” ”strong=”l|��/��� x-
morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1” ”strong=”m/1368|����������/��
x-morph=”OSHM:HR/Aampc” x-cantillationLevel=”0.0” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 8 ”strong=”3605|��/������
x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”1.1.0” 11 We read
the punctuation in L differently from BHQ. ”strong=”270|�������� x-
morph=”OSHM:HVqsmpc” ”strong=”2719|������ x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.1” ”strong=”3925|����������� x-morph=”OSHM:HVPsmpc”
x-cantillationLevel=”1.0” ”strong=”4421|���������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1” ”strong=”376|������ x-morph=”OSHM:HNcmsa”
”strong=”2719|���/������ x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”0.1.0”
strong=”5921|��� a” x-morph=”OSHM:HR”��/�������|strong=”3409”
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”0.1” ”strong=”m/6343|�������/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.0” ”strong=”b/3915|����������/���
x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”0”� 12 13 14 � 9
”strong=”668|������������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1.1”
strong=”6213|������� a” x-morph=”OSHM:HVqp3ms” ”strong=”l|���/�
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.1.0” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” ”strong=”8010|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”m/6086|������/�� x-morph=”OSHM:HR/Ncmpc”
x-cantillationLevel=”0.0” ”strong=”d/3844|����������/�� x-morph=”OSHM:HTd/Np”
x-cantillationLevel=”0”� 10 ”strong=”5982|��/��������� x-morph=”OSHM:HNcmpc/Sp3ms”
x-cantillationLevel=”1.2.0” strong=”6213|������� a” x-morph=”OSHM:HVqp3ms”
”strong=”3701|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.2”
”strong=”7507|��/��������� x-morph=”OSHM:HNcfsc/Sp3ms” ”strong=”2091|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1” ”strong=”4817|��/���������
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.0” ”strong=”713|�����������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”8432|���/�����
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.1.0” ”strong=”7528|�������
x-morph=”OSHM:HVqsmsa” ”strong=”160|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0.1” ”strong=”m/1323|��������/�� x-morph=”OSHM:HR/Ncfpc”
x-cantillationLevel=”0.0” ”strong=”3389|������������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 11 ”strong=”3318|��������� x-morph=”OSHM:HVqv2fp”
� ”strong=”c/7200|���������/��� x-morph=”OSHM:HC/Vqv2fp” x-cantillationLevel=”1.0.0”
”strong=”1323|�������� x-morph=”OSHM:HNcfpc” ”strong=”6726|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”b/4428|��������/���
x-morph=”OSHM:HRd/Ncmsa” ”strong=”8010|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”b/5850|��������/��� x-morph=”OSHM:HRd/Ncfsa”
11P
12Q Marks a place where we agree with BHQ against BHS in reading L.
13n Marks an anomalous form.
14p We read punctuation in L differently from BHS.
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x-cantillationLevel=”0.1.1” strong=”s/5849|��������/��� b” x-morph=”OSHM:HTr/Vpp3fs”��/����|strong=”l”
x-morph=”OSHM:HR/Sp3ms” ”strong=”517|���/���� x-morph=”OSHM:HNcfsc/Sp3ms”
x-cantillationLevel=”0.1.0” ”strong=”b/3117|�����/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”2861|��/��������� x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”0.1”
”strong=”c/b/3117|�����/��/�� x-morph=”OSHM:HC/R/Ncmsc” x-cantillationLevel=”0.0”
”strong=”8057|��������� x-morph=”OSHM:HNcfsc” strong=”3820|��/�����
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x-morph=”OSHM:HVqp3cp” strong=”5921|�/������ a” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0”� 5 strong=”6965|���������� b” x-morph=”OSHM:HVqp1cs”
”strong=”589|������ x-morph=”OSHM:HPp1cs” x-cantillationLevel=”1.0”
strong=”l/6605|��������/�� a” x-morph=”OSHM:HR/Vqc” ”strong=”l/1730|�/������/��
x-morph=”OSHM:HR/Ncmsc/Sp1cs” x-cantillationLevel=”1” ”strong=”c/3027|�/�����/��
x-morph=”OSHM:HC/Ncbdc/Sp1cs” ”strong=”5197|�������� x-morph=”OSHM:HVqp3cp”������|strong=”4753”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1.1” ”strong=”c/676|��/�����������/��
x-morph=”OSHM:HC/Ncfpc/Sp1cs” x-cantillationLevel=”0.1.0” ”strong=”4753|�����
x-morph=”OSHM:HNcmsa” strong=”5674|������ a” x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”0.1” strong=”5921|���� a” x-morph=”OSHM:HR” x-
cantillationLevel=”0.0” ”strong=”3709|��������� x-morph=”OSHM:HNcfpc”
”strong=”d/4514|����������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”�
6 strong=”6605|������������� a” x-morph=”OSHM:HVqp1cs” ”strong=”589|������
x-morph=”OSHM:HPp1cs” x-cantillationLevel=”1.1.0” ”strong=”l/1730|�/������/��
x-morph=”OSHM:HR/Ncmsc/Sp1cs” x-cantillationLevel=”1.1” ”strong=”c/1730|�/������/��
16U
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x-morph=”OSHM:HC/Ncmsc/Sp1cs” x-cantillationLevel=”1.0” ”strong=”2559|������
x-morph=”OSHM:HVqp3ms” strong=”5674|������ a” x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1” ”strong=”5315|��/������� x-morph=”OSHM:HNcbsc/Sp1cs”
x-cantillationLevel=”0.2.0” ”strong=”3318|��������� x-morph=”OSHM:HVqp3fs”
”strong=”b/1696|��/�������/�� x-morph=”OSHM:HR/Vpc/Sp3ms” x-cantillationLevel=”0.2”
”strong=”1245|����/�������������� x-morph=”OSHM:HVpp1cs/Sp3ms”
x-cantillationLevel=”0.1.0” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”4672|���/��������� x-morph=”OSHM:HVqp1cs/Sp3ms” x-cantillationLevel=”0.1”
”strong=”7121|�/��������� x-morph=”OSHM:HVqp1cs/Sp3ms” x-cantillationLevel=”0.0”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn” strong=”6030|���/�����
b” x-morph=”OSHM:HVqp3ms/Sp1cs” x-cantillationLevel=”0”� 7 ”strong=”4672|���/�������
x-morph=”OSHM:HVqp3cp/Sp1cs” ”strong=”d/8104|�����������/�� x-
morph=”OSHM:HTd/Vqrmpa” x-cantillationLevel=”1.0.0” ”strong=”d/5437|����������/��
x-morph=”OSHM:HTd/Vqrmpa” strong=”b/5892|�����/��� b” x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”1.0” ”strong=”5221|���/������� x-morph=”OSHM:HVhp3cp/Sp1cs”
”strong=”6481|���/�������� x-morph=”OSHM:HVqp3cp/Sp1cs” x-cantillationLevel=”1”
”strong=”5375|��������� x-morph=”OSHM:HVqp3cp” ”strong=”853|���
x-morph=”OSHM:HTo”��/��������|strong=”7289” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”0.1.0” strong=”m/5921|�/�����/��� a” x-morph=”OSHM:HR/R/Sp1cs”
x-cantillationLevel=”0.1” ”strong=”8104|��������� x-morph=”OSHM:HVqrmpc”
x-cantillationLevel=”0.0” ”strong=”d/2346|�������/�� x-morph=”OSHM:HTd/Ncfpa”
x-cantillationLevel=”0”� 8 ”strong=”7650|��������������� x-morph=”OSHM:HVhp1cs”
”strong=”853|����/���� x-morph=”OSHM:HTo/Sp2mp” x-cantillationLevel=”1.0”
”strong=”1323|�������� x-morph=”OSHM:HNcfpc” ”strong=”3389|�������������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” strong=”518|���� a” x-morph=”OSHM:HC”������������|strong=”4672”
x-morph=”OSHM:HVqi2mp” x-cantillationLevel=”0.2.0” ”strong=”853|���
x-morph=”OSHM:HTo”�/��������|strong=”1730” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”0.2” ”strong=”4100|��� x-morph=”OSHM:HTi”������������|strong=”5046”
x-morph=”OSHM:HVhi2mp” ”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.1” strong=”s/2470|�������/��� a” x-morph=”OSHM:HTr/Vqrfsc”
”strong=”160|�������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0”
”strong=”589|������ x-morph=”OSHM:HPp1cs” x-cantillationLevel=”0”�
9 ”strong=”4100|��� x-morph=”OSHM:HTi”��/��������|strong=”1730”
x-morph=”OSHM:HNcmsc/Sp2fs” ”strong=”m/1730|������/�� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”d/3303|�������/�� x-morph=”OSHM:HTd/Aafsa”
x-cantillationLevel=”1.0” ”strong=”b/802|���������/��� x-morph=”OSHM:HRd/Ncfpa”
x-cantillationLevel=”1” ”strong=”4100|��� x-morph=”OSHM:HTi”��/��������|strong=”1730”
x-morph=”OSHM:HNcmsc/Sp2fs” ”strong=”m/1730|������/�� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”s/3602|�������/��� x-morph=”OSHM:HTr/D”
x-cantillationLevel=”0.0” ”strong=”7650|���/�������������� x-morph=”OSHM:HVhp2fs/Sp1cp”
x-cantillationLevel=”0”� 10 ”strong=”1730|�/������� x-morph=”OSHM:HNcmsc/Sp1cs”
”strong=”6703|���� x-morph=”OSHM:HAamsa” x-cantillationLevel=”0.1.0”
strong=”c/122|�������/�� a” x-morph=”OSHM:HC/Aamsa” x-cantillationLevel=”0.1”
strong=”1713|�������� a” x-morph=”OSHM:HVqsmsa” x-cantillationLevel=”0.0”
”strong=”m/7233|��������/�� x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”0”�
11 strong=”7218|��/������ a” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.0”
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”strong=”3800|������� x-morph=”OSHM:HNcmsc” ”strong=”6337|�����
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”6977|��/�����������
x-morph=”OSHM:HNcfpc/Sp3ms” x-cantillationLevel=”0.1.0” 17 We agree
with both BHS 1997 and BHQ on an unexpected reading. ”strong=”8534|��������������
x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0.1” ”strong=”7838|����������
x-morph=”OSHM:HAafpa” x-cantillationLevel=”0.0” ”strong=”k/6158|�������/���
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0”� 12 strong=”5869|�/�������
a” x-morph=”OSHM:HNcbdc/Sp3ms” x-cantillationLevel=”1.1” ”strong=”k/3123|��������/���
x-morph=”OSHM:HR/Ncfpa” x-cantillationLevel=”1.0” strong=”5921|���
a” x-morph=”OSHM:HR”����������|strong=”650” x-morph=”OSHM:HNcmpc”
”strong=”4325|������ x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1”
”strong=”7364|���������� x-morph=”OSHM:HVqrfpa” x-cantillationLevel=”0.1.0”
”strong=”b/2461|������/���� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.1”
”strong=”3427|���������� x-morph=”OSHM:HVqrfpa” x-cantillationLevel=”0.0”
strong=”5921|��� a” x-morph=”OSHM:HR”���������|strong=”4402” x-
morph=”OSHM:HNcfsa” x-cantillationLevel=”0”� 13 ”strong=”3895|��/������
x-morph=”OSHM:HNcbdc/Sp3ms” x-cantillationLevel=”1.1.0” ”strong=”k/6170|���������/���
x-morph=”OSHM:HR/Ncfsc” ”strong=”d/1314|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”4026|������������ x-morph=”OSHM:HNcbpc”
x-cantillationLevel=”1.0” ”strong=”4840|����������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1” ”strong=”8193|��/����������� x-morph=”OSHM:HNcfpc/Sp3ms”
x-cantillationLevel=”0.1.0” ”strong=”7799|�������������� x-morph=”OSHM:HNcbpa”
x-cantillationLevel=”0.1” ”strong=”5197|��������� x-morph=”OSHM:HVqrfpa”
x-cantillationLevel=”0.0” ”strong=”4753|����� x-morph=”OSHM:HNcmsa”
strong=”5674|������ a” x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”0”�
14 ”strong=”3027|��/����� x-morph=”OSHM:HNcbdc/Sp3ms” x-cantillationLevel=”1.1.0”
strong=”1550|���������� b” x-morph=”OSHM:HNcmpc” ”strong=”2091|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1” ”strong=”4390|������������
x-morph=”OSHM:HVPsmpa” x-cantillationLevel=”1.0” ”strong=”b/8658|������������/���
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1” ”strong=”4578|��/�����
x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”0.1.0” ”strong=”6247|�������
x-morph=”OSHM:HNcmsc” ”strong=”8127|����� x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”0.1” ”strong=”5968|����������� x-morph=”OSHM:HVPsfsa”
x-cantillationLevel=”0.0” ”strong=”5601|����������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0”� 15 ”strong=”7785|��/������� x-morph=”OSHM:HNcfdc/Sp3ms”
x-cantillationLevel=”1.1.0” ”strong=”5982|���������� x-morph=”OSHM:HNcmpc”
strong=”8336|������ a” x-morph=”OSHM:HAcfsa” x-cantillationLevel=”1.1”
”strong=”3245|������������ x-morph=”OSHM:HVPsmpa” x-cantillationLevel=”1.0”
strong=”5921|��� a” x-morph=”OSHM:HR”��������|strong=”134” x-morph=”OSHM:HNcmpc”�����|strong=”6337”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”4758|����/�������
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.1.0” ”strong=”k/3844|����������/���
x-morph=”OSHM:HRd/Np” x-cantillationLevel=”0.1” ”strong=”977|��������
x-morph=”OSHM:HVqsmsa” x-cantillationLevel=”0.0” ”strong=”k/730|���������/���
x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”0”� 16 ”strong=”2441|���/����
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x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.1.0” ”strong=”4477|�������������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1” ”strong=”c/3605|��/�����/��
x-morph=”OSHM:HC/Ncmsc/Sp3ms” x-cantillationLevel=”1.0” ”strong=”4261|�������������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1” 18 Marks a place where
we agree with BHQ against BHS in reading L. 19 20 ”strong=”2088|���� x-
morph=”OSHM:HPdxms” ”strong=”1730|��/����� x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”0.1.0” ”strong=”c/2088|����/�� x-morph=”OSHM:HC/Pdxms”
”strong=”7453|�/����� x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0.1”
”strong=”1323|�������� x-morph=”OSHM:HNcfpc” x-cantillationLevel=”0.0”
”strong=”3389|������������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�

6 ”strong=”575|������ x-morph=”OSHM:HD” x-cantillationLevel=”1.1.0”
”strong=”1980|������� x-morph=”OSHM:HVqp3ms” ”strong=”1730|��/�������
x-morph=”OSHM:HNcmsc/Sp2fs” x-cantillationLevel=”1.1” ”strong=”d/3303|�������/��

x-morph=”OSHM:HTd/Aafsa” x-cantillationLevel=”1.0” ”strong=”b/802|���������/���
x-morph=”OSHM:HRd/Ncfpa” x-cantillationLevel=”1” ”strong=”575|������
x-morph=”OSHM:HD” x-cantillationLevel=”0.1.0” ”strong=”6437|�������
x-morph=”OSHM:HVqp3ms” ”strong=”1730|��/������ x-morph=”OSHM:HNcmsc/Sp2fs”
x-cantillationLevel=”0.1” ”strong=”c/1245|����/����������/�� x-morph=”OSHM:HC/Vpi1cp/Sp3ms”
x-cantillationLevel=”0.0” strong=”5973|��/������ a” x-morph=”OSHM:HR/Sp2fs”
x-cantillationLevel=”0”� 2 ”strong=”1730|��/������ x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1.1.0” ”strong=”3381|������ x-morph=”OSHM:HVqp3ms”
”strong=”l/1588|��/�����/�� x-morph=”OSHM:HR/Ncbsc/Sp3ms” x-cantillationLevel=”1.1”
”strong=”l/6170|����������/�� x-morph=”OSHM:HR/Ncfpc” x-cantillationLevel=”1.0”
”strong=”d/1314|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1”
strong=”l/7462|�������/�� b” x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.1.0”
”strong=”b/1588|���������/��� x-morph=”OSHM:HRd/Ncbpa” x-cantillationLevel=”0.1”
”strong=”c/l/3950|������/��/�� x-morph=”OSHM:HC/R/Vqc” x-cantillationLevel=”0.0”
”strong=”7799|�������������� x-morph=”OSHM:HNcbpa” x-cantillationLevel=”0”�
3 ”strong=”589|������ x-morph=”OSHM:HPp1cs” ”strong=”l/1730|��/�����/��
x-morph=”OSHM:HR/Ncmsc/Sp1cs” x-cantillationLevel=”0.1.0” ”strong=”c/1730|�/������/��
x-morph=”OSHM:HC/Ncmsc/Sp1cs” ”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0.1” strong=”d/7462|������/�� b” x-morph=”OSHM:HTd/Vqrmsa”
x-cantillationLevel=”0.0” ”strong=”b/7799|�������������/��� x-morph=”OSHM:HRd/Ncbpa”
x-cantillationLevel=”0”� 21 Marks a place where we agree with BHQ against
BHS in reading L. 22 23 � 4 ”strong=”3303|������ x-morph=”OSHM:HAafsa”
strong=”859|������ c” x-morph=”OSHM:HPp2fs” ”strong=”7474|��/��������
x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”1.1.0” ”strong=”k/8656|��������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1” ”strong=”5000|�������
x-morph=”OSHM:HAafsa” x-cantillationLevel=”1.0” ”strong=”k/3389|������������/���
18Q
19n Marks an anomalous form.
20p We read punctuation in L differently from BHS.
21Q
22n Marks an anomalous form.
23p We read punctuation in L differently from BHS.
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x-morph=”OSHM:HR/Np” x-cantillationLevel=”1” ”strong=”366|���������
x-morph=”OSHM:HAafsa” x-cantillationLevel=”0.0” strong=”k/1713|�������������/���
b” x-morph=”OSHM:HRd/VNrfpa” x-cantillationLevel=”0”� 5 ”strong=”5437|���������
x-morph=”OSHM:HVhv2fs” strong=”5869|���/�������� a” x-morph=”OSHM:HNcbdc/Sp2fs”
x-cantillationLevel=”1.1.0” ”strong=”m/5048|�/���������/�� x-morph=”OSHM:HR/R/Sp1cs”
x-cantillationLevel=”1.1” ”strong=”s/1992|����/���� x-morph=”OSHM:HTr/Sp3mp”
x-cantillationLevel=”1.0” 24We read one or more accents in L differently from
BHQ. ”strong=”7292|���/���������� x-morph=”OSHM:HVhp3cp/Sp1cs”
x-cantillationLevel=”1” ”strong=”8181|���/������� x-morph=”OSHM:HNcmsc/Sp2fs”
x-cantillationLevel=”0.1.0” ”strong=”k/5739|������/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”d/5795|��������/��� x-morph=”OSHM:HTd/Ncfpa” x-cantillationLevel=”0.1”
”strong=”s/1570|����������/��� x-morph=”OSHM:HTr/Vqp3cp” x-cantillationLevel=”0.0”
strong=”4480|��� a” x-morph=”OSHM:HR”���������/���|strong=”d/1568”
x-morph=”OSHM:HTd/Np” x-cantillationLevel=”0”� 6 ”strong=”8127|���/���������
x-morph=”OSHM:HNcbdc/Sp2fs” x-cantillationLevel=”1.1.0” ”strong=”k/5739|������/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”d/7353|���������/��� x-morph=”OSHM:HTd/Ncfpa”
x-cantillationLevel=”1.1” ”strong=”s/5927|������/��� x-morph=”OSHM:HTr/Vqp3cp”
x-cantillationLevel=”1.0” strong=”4480|��� a” x-morph=”OSHM:HR”��������/���|strong=”d/7367”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1” ”strong=”s/3605|��/������/���
x-morph=”OSHM:HTr/Ncmsc/Sp3mp” x-cantillationLevel=”0.1.0” ”strong=”8382|������������
x-morph=”OSHM:HVhrfpa” x-cantillationLevel=”0.1” ”strong=”c/7909|����������/��
x-morph=”OSHM:HC/Aafsa” x-cantillationLevel=”0.0” ”strong=”369|�����
x-morph=”OSHM:HTn” ”strong=”b|����/��� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0”� 7 ”strong=”k/6400|������/��� x-morph=”OSHM:HR/Ncfsc”
”strong=”d/7416|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1.0”
”strong=”7541|��/�������� x-morph=”OSHM:HNcfsc/Sp2fs” x-cantillationLevel=”0.1”
”strong=”m/1157|�������/�� x-morph=”OSHM:HR/R” x-cantillationLevel=”0.0”
”strong=”l/6777|��/��������/�� x-morph=”OSHM:HR/Ncfsc/Sp2fs” x-
cantillationLevel=”0”� 8 ”strong=”8346|���������� x-morph=”OSHM:HAcbpa”
”strong=”1992|�������� x-morph=”OSHM:HPp3mp” x-cantillationLevel=”1.1.0”
”strong=”4436|���������� x-morph=”OSHM:HNcfpa” x-cantillationLevel=”1.1”
”strong=”c/8084|����������/�� x-morph=”OSHM:HC/Acbpa” x-cantillationLevel=”1.0”
”strong=”6370|��������������� x-morph=”OSHM:HNcfpa” x-cantillationLevel=”1”
”strong=”c/5959|���������/�� x-morph=”OSHM:HC/Ncfpa” x-cantillationLevel=”0.0”
”strong=”369|����� x-morph=”OSHM:HTn” ”strong=”4557|���������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 9 ”strong=”259|������
x-morph=”OSHM:HAcfsa” ”strong=”1931|����� x-morph=”OSHM:HPp3fs”
x-cantillationLevel=”1.2.0” ”strong=”3123|�/�������� x-morph=”OSHM:HNcfsc/Sp1cs”
”strong=”8535|�/�������� x-morph=”OSHM:HAafsc/Sp1cs” x-cantillationLevel=”1.2”
”strong=”259|������ x-morph=”OSHM:HAcfsa” ”strong=”1931|����� x-
morph=”OSHM:HPp3fs” x-cantillationLevel=”1.1.0” ”strong=”l/517|��/������/��
x-morph=”OSHM:HR/Ncfsc/Sp3fs” x-cantillationLevel=”1.1” ”strong=”1249|�������
x-morph=”OSHM:HAafsa” ”strong=”1931|����� x-morph=”OSHM:HPp3fs”
x-cantillationLevel=”1.0” ”strong=”l/3205|��/������������/�� x-morph=”OSHM:HR/Vqrfsc/Sp3fs”
24C
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x-cantillationLevel=”1” ”strong=”7200|��/������ x-morph=”OSHM:HVqp3cp/Sp3fs”
”strong=”1323|������� x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0.1.0”
”strong=”c/833|��/������������/��� x-morph=”OSHM:HC/Vpw3mp/Sp3fs”
x-cantillationLevel=”0.1” ”strong=”4436|��������� x-morph=”OSHM:HNcfpa”
”strong=”c/6370|��������������/�� x-morph=”OSHM:HC/Ncfpa” x-
cantillationLevel=”0.0” strong=”c/1984|��/����������/��� b” x-morph=”OSHM:HC/Vpw3mp/Sp3fs”
x-cantillationLevel=”0”� � 10 ”strong=”4310|��� x-morph=”OSHM:HTi”������|strong=”2063”
x-morph=”OSHM:HPdxfs” ”strong=”d/8259|������������/�� x-morph=”OSHM:HTd/VNrfsa”
x-cantillationLevel=”1.0” ”strong=”3644|������ x-morph=”OSHM:HR”��������|strong=”7837”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”3303|������
x-morph=”OSHM:HAafsa” ”strong=”k/3842|���������/�� x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”0.1.1” ”strong=”1249|������� x-morph=”OSHM:HAafsa”
x-cantillationLevel=”0.1.0” ”strong=”k/2535|�������/���� x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”0.1” ”strong=”366|��������� x-morph=”OSHM:HAafsa”
x-cantillationLevel=”0.0” strong=”k/1713|�������������/��� b” x-morph=”OSHM:HRd/VNrfpa”
x-cantillationLevel=”0”� � 11 ”strong=”413|��� x-morph=”OSHM:HR”���������|strong=”1594”
x-morph=”OSHM:HNcfsc” ”strong=”93|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1.0” ”strong=”3381|����������� x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”1.1” ”strong=”l/7200|�������/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1.0” ”strong=”b/3|�������/��� x-morph=”OSHM:HR/Ncmpc”
strong=”d/5158|�������/�� a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1”
”strong=”l/7200|�������/�� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.1.0”
strong=”i/6524|���������/�� a” x-morph=”OSHM:HTd/Vqp3fs” ”strong=”d/1612|�������/��
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.1” strong=”5132|��������
b” x-morph=”OSHM:HVhp3cp” x-cantillationLevel=”0.0” ”strong=”d/7416|����������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0”� 12 ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”3045|����������� x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”0.2” ”strong=”5315|�/�������� x-morph=”OSHM:HNcbsc/Sp1cs”
strong=”7760|���/�������� a” x-morph=”OSHM:HVqp3fs/Sp1cs” x-cantillationLevel=”0.1”
”strong=”4818|������������ x-morph=”OSHM:HNcfpc” x-cantillationLevel=”0.0”
strong=”5971|�/����� a” x-morph=”OSHM:HNcmsc/Sp1cs” 25 WLC has
this word divided as .������ � ”strong=”5081|������� x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0”�7 26 KJV:Song.6.13 ”strong=”7725|�������� x-morph=”OSHM:HVqv2fs”

”strong=”7725|��������� x-morph=”OSHM:HVqv2fs” x-cantillationLevel=”1.1.0”
”strong=”d/7759|��������������/�� x-morph=”OSHM:HTd/Ngfsa”

x-cantillationLevel=”1.1” ”strong=”7725|�������� x-morph=”OSHM:HVqv2fs”
”strong=”7725|�������� x-morph=”OSHM:HVqv2fs” x-cantillationLevel=”1.0”
”strong=”c/2372|�������/�� x-morph=”OSHM:HC/Vqi1cp”��/�����|strong=”b”
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”1” ”strong=”4100|����
x-morph=”OSHM:HTi”����������|strong=”2372” x-morph=”OSHM:HVqi2mp”
x-cantillationLevel=”0.1.0” ”strong=”b/7759|��������������/��� x-
morph=”OSHM:HRd/Ngfsa” x-cantillationLevel=”0.1” ”strong=”k/4246|��������/���
25+
26+
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x-morph=”OSHM:HR/Ncfsc” x-cantillationLevel=”0.0” ”strong=”d/4264|�����������/���
x-morph=”OSHM:HTd/Ncbda” x-cantillationLevel=”0”� 2 27 KJV:Song.7.1
”strong=”4100|��� x-morph=”OSHM:HTi”��������|strong=”3303” x-morph=”OSHM:HVqp3cp”
”strong=”6471|��/��������� x-morph=”OSHM:HNcfdc/Sp2fs” x-cantillationLevel=”1.0.0”
”strong=”b/5275|����������/��� x-morph=”OSHM:HRd/Ncfpa” x-cantillationLevel=”1.0”
”strong=”1323|���� x-morph=”OSHM:HNcfsc”��������|strong=”5081”
x-morph=”OSHM:HAamsa” x-cantillationLevel=”1” ”strong=”2542|����������
x-morph=”OSHM:HNcmpc” ”strong=”3409|��/��������� x-morph=”OSHM:HNcfdc/Sp2fs”
x-cantillationLevel=”0.2” ”strong=”3644|������� x-morph=”OSHM:HR”
”strong=”2481|��������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.1”
”strong=”4639|��������� x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.0”
”strong=”3027|������ x-morph=”OSHM:HNcbdc” ”strong=”542|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 3 28 KJV:Song.7.2 ”strong=”8326|���/�������
x-morph=”OSHM:HNcmsc/Sp2fs” x-cantillationLevel=”1.1.0” ”strong=”101|�������
x-morph=”OSHM:HNcmsc” ”strong=”d/5469|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”408|��� x-morph=”OSHM:HTn”���������|strong=”2637”
x-morph=”OSHM:HVqj3ms” x-cantillationLevel=”1.0” ”strong=”d/4197|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1” ”strong=”990|���/�������
x-morph=”OSHM:HNcfsc/Sp2fs” x-cantillationLevel=”0.1.0” ”strong=”6194|��������
x-morph=”OSHM:HNcfsc” ”strong=”2406|�������� x-morph=”OSHM:HNcfpa”
x-cantillationLevel=”0.1” ”strong=”5473|������� x-morph=”OSHM:HVQsfsa”
x-cantillationLevel=”0.0” ”strong=”b/7799|��������������/��� x-morph=”OSHM:HRd/Ncbpa”
x-cantillationLevel=”0”� 4 29 KJV:Song.7.3 ”strong=”8147|������� x-
morph=”OSHM:HAcmdc” strong=”7699|��/�������� a” x-morph=”OSHM:HNcmdc/Sp2fs”
x-cantillationLevel=”0.0.0” ”strong=”k/8147|�������/��� x-morph=”OSHM:HR/Acmdc”
”strong=”6082|��������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.0”
”strong=”8380|��������� x-morph=”OSHM:HNcmpc” ”strong=”6646|���������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”� 5 30 KJV:Song.7.4 strong=”6677|��/���������
a” x-morph=”OSHM:HNcmsc/Sp2fs” x-cantillationLevel=”1.0” ”strong=”k/4026|���������/���
x-morph=”OSHM:HR/Ncbsc” ”strong=”d/8127|������/�� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”1” strong=”5869|��/�������� a” x-morph=”OSHM:HNcbdc/Sp2fs”
x-cantillationLevel=”0.2.1.0” ”strong=”1295|���������� x-morph=”OSHM:HNcfpa”
”strong=”b/2809|�����������/��� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.2.1”
strong=”5921|��� a” x-morph=”OSHM:HR”���������|strong=”8179” x-
morph=”OSHM:HNcmsc” x-cantillationLevel=”0.2.0” ”+strong=”1337|����
x-morph=”OSHM:HNp”���������|strong=”1337” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.2” ”strong=”639|���/����� x-morph=”OSHM:HNcmsc/Sp2fs”
x-cantillationLevel=”0.1.0” ”strong=”k/4026|���������/��� x-morph=”OSHM:HR/Ncbsc”
”strong=”d/3844|����������/�� x-morph=”OSHM:HTd/Np” x-cantillationLevel=”0.1”
”strong=”6822|������� x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”0.0”
”strong=”6440|������� x-morph=”OSHM:HNcbpc” ”strong=”1834|����������
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x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 6 31 KJV:Song.7.5 strong=”7218|��/�������
a” x-morph=”OSHM:HNcmsc/Sp2fs” strong=”5921|���/������� a” x-morph=”OSHM:HR/Sp2fs”
x-cantillationLevel=”1.1.0” ”strong=”k/3760|���������/��� x-morph=”OSHM:HRd/Np”
x-cantillationLevel=”1.1” strong=”c/1803|�������/�� a” x-morph=”OSHM:HC/Ncfsc”
strong=”7218|��/������� a” x-morph=”OSHM:HNcmsc/Sp2fs” x-cantillationLevel=”1.0”
”strong=”k/713|�����������/��� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1”
”strong=”4428|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
”strong=”631|������� x-morph=”OSHM:HVqsmsa” strong=”b/7298|���������/���
b” x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”0”� 7 32 KJV:Song.7.6
”strong=”4100|��� x-morph=”OSHM:HTi”���������|strong=”3302” x-
morph=”OSHM:HVqp2fs” x-cantillationLevel=”0.1.0” ”strong=”c/4100|���/��
x-morph=”OSHM:HC/Ti”������������|strong=”5276” x-morph=”OSHM:HVqp2fs”
x-cantillationLevel=”0.1” ”strong=”160|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0.0” ”strong=”b/8588|��������������/��� x-morph=”OSHM:HRd/Ncmpa”
x-cantillationLevel=”0”� 8 33 KJV:Song.7.7 ”strong=”2063|����� x-morph=”OSHM:HPdxfs”
”strong=”6967|���/�������� x-morph=”OSHM:HNcfsc/Sp2fs” x-cantillationLevel=”0.1.0”
”strong=”1819|���������� x-morph=”OSHM:HVqp3fs” ”strong=”l/8558|������/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.1” strong=”c/7699|��/��������/��
a” x-morph=”OSHM:HC/Ncmdc/Sp2fs” x-cantillationLevel=”0.0” ”strong=”l/811|�������������/��
x-morph=”OSHM:HR/Ncmpa” x-cantillationLevel=”0”� 9 34 KJV:Song.7.8
”strong=”559|������������ x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.1.0”
”strong=”5927|�������� x-morph=”OSHM:HVqh1cs” ”strong=”b/8558|������/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.1” ”strong=”270|���������
x-morph=”OSHM:HVqh1cs” x-cantillationLevel=”1.0” ”strong=”b/5577|�/�����������/���
x-morph=”OSHM:HR/Ncmpc/Sp3ms” x-cantillationLevel=”1” ”strong=”c/1961|��������/��
x-morph=”OSHM:HC/Vqj3mp”�����|strong=”4994” x-morph=”OSHM:HTe”
strong=”7699|���/�������� a” x-morph=”OSHM:HNcmdc/Sp2fs” x-cantillationLevel=”0.1.0”
”strong=”k/811|�������������/��� x-morph=”OSHM:HR/Ncmpc” ”strong=”d/1612|�������/��
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.1” ”strong=”c/7381|������/��
x-morph=”OSHM:HC/Ncmsc” ”strong=”639|��/������ x-morph=”OSHM:HNcmsc/Sp2fs”
x-cantillationLevel=”0.0” ”strong=”k/8598|������������/��� x-morph=”OSHM:HRd/Ncmpa”
x-cantillationLevel=”0”� 10 35 KJV:Song.7.9 ”strong=”c/2441|��/������/��
x-morph=”OSHM:HC/Ncmsc/Sp2fs” x-cantillationLevel=”1.1” ”strong=”k/3196|�����/���
x-morph=”OSHM:HR/Ncmsc” strong=”d/2896|������/�� a” x-morph=”OSHM:HTd/Aamsa”
x-cantillationLevel=”1.0.0” ”strong=”1980|�������� x-morph=”OSHM:HVqrmsa”
”strong=”l/1730|�/������/�� x-morph=”OSHM:HR/Ncmsc/Sp1cs” x-cantillationLevel=”1.0”
”strong=”l/4339|�����������/�� x-morph=”OSHM:HR/Ncmpa” x-cantillationLevel=”1”
”strong=”1680|�������� x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”0.0”
”strong=”8193|��������� x-morph=”OSHM:HNcfdc” ”strong=”3462|����������
x-morph=”OSHM:HAampa” x-cantillationLevel=”0”� 11 36 KJV:Song.7.10
31+
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”strong=”589|������ x-morph=”OSHM:HPp1cs” ”strong=”l/1730|�/������/��
x-morph=”OSHM:HR/Ncmsc/Sp1cs” x-cantillationLevel=”0.1” strong=”c/5921|�/�����/��
a” x-morph=”OSHM:HC/R/Sp1cs” x-cantillationLevel=”0.0” ”strong=”8669|��/�����������
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”0”� � 12 37 KJV:Song.7.11
”strong=”3212|�/����� x-morph=”OSHM:HVqv2ms/Sh” ”strong=”1730|��/�����
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0.1.0” ”strong=”3318|������
x-morph=”OSHM:HVqh1cp” strong=”d/7704|��������/�� b” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1” strong=”3885|��������� a” x-morph=”OSHM:HVqh1cp”
x-cantillationLevel=”0.0” ”strong=”b/3723|����������/��� x-morph=”OSHM:HRd/Ncmpa”
x-cantillationLevel=”0”� 13 38 KJV:Song.7.12 ”strong=”7925|��������������
x-morph=”OSHM:HVhh1cp” x-cantillationLevel=”1.2.0” ”strong=”l/3754|����������/��
x-morph=”OSHM:HRd/Ncbpa” x-cantillationLevel=”1.2” ”strong=”7200|��������
x-morph=”OSHM:HVqh1cp” x-cantillationLevel=”1.1.0.0” strong=”518|���
a” x-morph=”OSHM:HC” strong=”6524|���������� a” x-morph=”OSHM:HVqp3fs”
”strong=”d/1612|��������/�� x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.1.0”
strong=”6605|�������� a” x-morph=”OSHM:HVpp3ms” ”strong=”d/5563|���������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1” strong=”5132|��������
b” x-morph=”OSHM:HVhp3cp” x-cantillationLevel=”1.0” ”strong=”d/7416|�����������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1” ”strong=”8033|�����
x-morph=”OSHM:HD” x-cantillationLevel=”0.0.0” ”strong=”5414|�������
x-morph=”OSHM:HVqi1cs” ”strong=”853|��� x-morph=”OSHM:HTo”�/�������|strong=”1730”
x-morph=”OSHM:HNcmpc/Sp1cs” x-cantillationLevel=”0.0” ”strong=”l|��/���
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0”� 14 39 KJV:Song.7.13
”strong=”d/1736|�����������/��� x-morph=”OSHM:HTd/Ncmpa” ”strong=”5414|��������
x-morph=”OSHM:HVqp3cp”�������|strong=”7381” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1.1” strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”����/����������|strong=”6607”
x-morph=”OSHM:HNcmpc/Sp1cp” x-cantillationLevel=”1.1.0” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”����������|strong=”4022” x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.1” ”strong=”2319|���������� x-morph=”OSHM:HAampa”
x-cantillationLevel=”1.0” ”strong=”1571|���� x-morph=”OSHM:HTa”�����������|strong=”3465”
x-morph=”OSHM:HAampa” x-cantillationLevel=”1” ”strong=”1730|�/�������
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0.0” ”strong=”6845|�����������
x-morph=”OSHM:HVqp1cs” ”strong=”l|��/��� x-morph=”OSHM:HR/Sp2fs”
x-cantillationLevel=”0”�8 ”strong=”4310|���� x-morph=”OSHM:HTi” ”strong=”5414|���/�������

x-morph=”OSHM:HVqi3ms/Sp2ms” x-cantillationLevel=”1.1.0” ”strong=”k/251|����/���
x-morph=”OSHM:HR/Ncmsa” ”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs”

x-cantillationLevel=”1.1” ”strong=”3243|������� x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”1.0” strong=”7699|������� a” x-morph=”OSHM:HNcmdc”
”strong=”517|�/������ x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”1”
”strong=”4672|���/��������� x-morph=”OSHM:HVqi1cs/Sp2ms” ”strong=”b/2351|�����/��
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0.1.0” strong=”5401|���/��������
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a” x-morph=”OSHM:HVqi1cs/Sp2ms” x-cantillationLevel=”0.1” 40 Marks a
place where we agree with BHQ against BHS in reading L. 41 42 ”strong=”1571|�����
x-morph=”OSHM:HTa” x-cantillationLevel=”0.0” ”strong=”3808|��� x-morph=”OSHM:HTn”����������|strong=”936”
x-morph=”OSHM:HVqi3mp” ”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0”� 2 strong=”5090|���/��������� a” x-morph=”OSHM:HVqi1cs/Sp2ms”
x-cantillationLevel=”1.0.1” ”strong=”935|���/�������� x-morph=”OSHM:HVhi1cs/Sp2ms”
x-cantillationLevel=”1.0.0” ”strong=”413|��� x-morph=”OSHM:HR”�������|strong=”1004
b” x-morph=”OSHM:HNcmsc” ”strong=”517|�/������ x-morph=”OSHM:HNcfsc/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”3925|���/����������� x-morph=”OSHM:HVpi3fs/Sp1cs”
x-cantillationLevel=”1” ”strong=”8248|���/������� x-morph=”OSHM:HVhi1cs/Sp2ms”
x-cantillationLevel=”0.1.0” ”strong=”m/3196|�������/�� x-morph=”OSHM:HR/Ncmsa”
”strong=”d/7544|������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1”
”strong=”m/6071|�������/�� x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”0.0”
”strong=”7416|�/�������� x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0”�
3 ”strong=”8040|���/������� x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.1.0”
”strong=”8478|������� x-morph=”OSHM:HR” strong=”7218|�/�������
a” x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0.1” ”strong=”c/3225|��/������/���
x-morph=”OSHM:HC/Ncfsc/Sp3ms” x-cantillationLevel=”0.0” ”strong=”2263|���/�����������
x-morph=”OSHM:HVpi3fs/Sp1cs” x-cantillationLevel=”0”� 4 ”strong=”7650|���������������
x-morph=”OSHM:HVhp1cs” ”strong=”853|����/���� x-morph=”OSHM:HTo/Sp2mp”
x-cantillationLevel=”1.0” ”strong=”1323|�������� x-morph=”OSHM:HNcfpc”
”strong=”3389|������������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”4100|��� x-morph=”OSHM:HTi”�����������|strong=”5782”
x-morph=”OSHM:HVhi2mp” � ”strong=”c/4100|���/��� x-morph=”OSHM:HC/Ti”�������������|strong=”5782”
x-morph=”OSHM:HVoi2mp” x-cantillationLevel=”0.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������/���|strong=”d/160” x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0.0” ”strong=”5704|���� x-morph=”OSHM:HR” strong=”s/2654|����������/���
a” x-morph=”OSHM:HTr/Vqi3fs” x-cantillationLevel=”0”� � 5 ”strong=”4310|����
x-morph=”OSHM:HTi” ”strong=”2063|����� x-morph=”OSHM:HPdxfs” x-
cantillationLevel=”1.1.1” ”strong=”5927|������ x-morph=”OSHM:HVqrfsa”
x-cantillationLevel=”1.1.0” strong=”4480|��� a” x-morph=”OSHM:HR”����������/���|strong=”d/4057
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1” ”strong=”7514|�������������
x-morph=”OSHM:HVtrfsa” x-cantillationLevel=”1.0” strong=”5921|��� a”
x-morph=”OSHM:HR”��/��������|strong=”1730” x-morph=”OSHM:HNcmsc/Sp3fs”
x-cantillationLevel=”1” ”strong=”8478|������� x-morph=”OSHM:HR” ”strong=”d/8598|�����������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.2.0” ”strong=”5782|��/�������������
x-morph=”OSHM:HVop1cs/Sp2ms” x-cantillationLevel=”0.2” ”strong=”8033|�/�������
x-morph=”OSHM:HD/Sd” x-cantillationLevel=”0.1.0” strong=”2254|��/����������
c” x-morph=”OSHM:HVpp3fs/Sp2ms” ”strong=”517|��/������ x-morph=”OSHM:HNcfsc/Sp2ms”
x-cantillationLevel=”0.1” ”strong=”8033|�/������� x-morph=”OSHM:HD/Sd”
x-cantillationLevel=”0.0” strong=”2254|��������� c” x-morph=”OSHM:HVpp3fs”
”strong=”3205|��/��������� x-morph=”OSHM:HVqp3fs/Sp2ms” x-cantillationLevel=”0”�

40Q
41n Marks an anomalous form.
42p We read punctuation in L differently from BHS.
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6 strong=”7760|���/������� a” x-morph=”OSHM:HVqv2ms/Sp1cs” ”strong=”k/2368|�������/���
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.2.1.0” strong=”5921|���
a” x-morph=”OSHM:HR”��/�������|strong=”3820 a” x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”1.2.1” ”strong=”k/2368|�������/���� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1.2.0” strong=”5921|��� a” x-morph=”OSHM:HR”��/���������|strong=”2220”
x-morph=”OSHM:HNcbsc/Sp2ms” x-cantillationLevel=”1.2” strong=”3588|�����
a” x-morph=”OSHM:HC”��������|strong=”5794” x-morph=”OSHM:HAafsa”
”strong=”k/4194|��������/�� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.1.0”
”strong=”160|�������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.1”
”strong=”7186|������� x-morph=”OSHM:HAafsa” ”strong=”k/7585|��������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.0” ”strong=”7068|��������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1” ”strong=”7565|��/���������
x-morph=”OSHM:HNcmpc/Sp3fs” x-cantillationLevel=”0.2” ”strong=”7565|����������
x-morph=”OSHM:HNcmpc” x-cantillationLevel=”0.1” ”strong=”784|�����
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0.0” ”strong=”7957|������������
x-morph=”OSHM:HNcfsa”����|strong=”3050” x-morph=”OSHM:HNp” x-
cantillationLevel=”0”� 43 A single word in the text has been divided for exege-
sis. 7 ”strong=”4325|������ x-morph=”OSHM:HNcmpa” strong=”7227|��������
a” x-morph=”OSHM:HAampa” x-cantillationLevel=”1.1.1” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”3201|���������� x-morph=”OSHM:HVqi3mp”
x-cantillationLevel=”1.1.0” ”strong=”l/3518|��������/�� x-morph=”OSHM:HR/Vpc”
”strong=”853|��� x-morph=”OSHM:HTo”��������/����|strong=”d/160”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.1” ”strong=”c/5104|���������/��
x-morph=”OSHM:HC/Ncmpa” x-cantillationLevel=”1.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”7857|��/����������� x-morph=”OSHM:HVqi3mp/Sp3fs”
x-cantillationLevel=”1” strong=”518|��� a” x-morph=”OSHM:HC”��������|strong=”5414”
x-morph=”OSHM:HVqi3ms” ”strong=”376|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1.0.0” ”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”������|strong=”1952” x-morph=”OSHM:HNcmsc”
strong=”1004|���/����� b” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.1.0”
”strong=”b/160|��������/��� x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”0.1”
”strong=”936|������ x-morph=”OSHM:HVqa” x-cantillationLevel=”0.0”
”strong=”936|��������� x-morph=”OSHM:HVqi3mp” ”strong=”l|��/��
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0”� � 8 ”strong=”269|�������
x-morph=”OSHM:HNcfsa” ”strong=”l|����/��� x-morph=”OSHM:HR/Sp1cp”
x-cantillationLevel=”1.1.0” strong=”6996|��������� a” x-morph=”OSHM:HAafsa”
x-cantillationLevel=”1.1” strong=”c/7699|���������/�� a” x-morph=”OSHM:HC/Ncmda”
x-cantillationLevel=”1.0” ”strong=”369|����� x-morph=”OSHM:HTn” ”strong=”l|��/���
x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1” ”strong=”4100|����
x-morph=”OSHM:HTi”�����������|strong=”6213 a” x-morph=”OSHM:HVqi1cp”
x-cantillationLevel=”0.1.0” ”strong=”l/269|���/�������/�� x-morph=”OSHM:HR/Ncfsc/Sp1cp”
x-cantillationLevel=”0.1” ”strong=”b/3117|������/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”s/1696|���������/��� x-morph=”OSHM:HTr/VPi3ms”��/�����|strong=”b”
x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0”� 9 strong=”518|���
43+
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a” x-morph=”OSHM:HC”��������|strong=”2346” x-morph=”OSHM:HNcfsa”
”strong=”1931|����� x-morph=”OSHM:HPp3fs” x-cantillationLevel=”1.1”
”strong=”1129|�������� x-morph=”OSHM:HVqi1cp” strong=”5921|��/������
a” x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1.0” ”strong=”2918|�������
x-morph=”OSHM:HNcfsc” ”strong=”3701|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” strong=”c/518|���/�� a” x-morph=”OSHM:HC/C”��������|strong=”1817
c” x-morph=”OSHM:HNcfsa” ”strong=”1931|����� x-morph=”OSHM:HPp3fs”
x-cantillationLevel=”0.1” strong=”6696|������� a” x-morph=”OSHM:HVqi1cp”
strong=”5921|��/������ a” x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0.0”
”strong=”3871|������ x-morph=”OSHM:HNcmsc” ”strong=”730|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 10 ”strong=”589|������
x-morph=”OSHM:HPp1cs” ”strong=”2346|������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.1” strong=”c/7699|�/������/�� a” x-morph=”OSHM:HC/Ncmdc/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”k/4026|�������������/��� x-morph=”OSHM:HRd/Ncbpa”
x-cantillationLevel=”1” strong=”227|���� a” x-morph=”OSHM:HD” x-cantillationLevel=”0.0.0”
”strong=”1961|��������� x-morph=”OSHM:HVqp1cs” strong=”b/5869|�/�������/��
a” x-morph=”OSHM:HR/Ncbdc/Sp3ms” x-cantillationLevel=”0.0” ”strong=”k/4672|���������/���
x-morph=”OSHM:HR/Vhrfsa” ”strong=”7965|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� � 11 ”strong=”3754|������� x-morph=”OSHM:HNcbsa”
”strong=”1961|������ x-morph=”OSHM:HVqp3ms” ”strong=”l/8010|���������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1.0” ”+strong=”b/1174|������/���
x-morph=”OSHM:HR/Np” ”strong=”1174|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”5414|������ x-morph=”OSHM:HVqp3ms”
”strong=”853|��� x-morph=”OSHM:HTo”�������/���|strong=”d/3754”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.0” ”strong=”l/5201|����������/��
x-morph=”OSHM:HRd/Vqrmpa” x-cantillationLevel=”1” ”strong=”376|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0.0” ”strong=”935|������
x-morph=”OSHM:HVhi3ms” ”strong=”b/6529|��/������/��� x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”505|������ x-morph=”OSHM:HAcbsa”
”strong=”3701|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
12 ”strong=”3754|�/�������� x-morph=”OSHM:HNcbsc/Sp1cs” 44Marks
a place where we agree with BHQ against BHS in reading L. 45 46 ”strong=”s/l|�/����/���
x-morph=”OSHM:HTr/R/Sp1cs” x-cantillationLevel=”1.0” ”strong=”l/6440|�/�����/��
x-morph=”OSHM:HR/Ncbpc/Sp1cs” x-cantillationLevel=”1” ”strong=”d/505|������/��
x-morph=”OSHM:HTd/Acbsa” ”strong=”l|���/�� x-morph=”OSHM:HR/Sp2ms”
x-cantillationLevel=”0.1.0” ”strong=”8010|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”c/3967|���������/�� x-morph=”OSHM:HC/Acbda”
x-cantillationLevel=”0.0” ”strong=”l/5201|���������/�� x-morph=”OSHM:HR/Vqrmpa”
”strong=”853|��� x-morph=”OSHM:HTo”��/��������|strong=”6529”
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”� 13 ”strong=”d/3427|����������/��
x-morph=”OSHM:HTd/Vqrfsa” 47 Marks a place where we agree with BHQ

44Q
45n Marks an anomalous form.
46v We read one or more vowels in L differently from BHS.
47Q
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against BHS in reading L. 48 49 ”strong=”b/1588|���������/��� x-
morph=”OSHM:HRd/Ncbpa” x-cantillationLevel=”0.0.1” ”strong=”2270|���������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.0.0” ”strong=”7181|�������������
x-morph=”OSHM:HVhrmpa” strong=”l/6963|��/������/�� a” x-morph=”OSHM:HR/Ncmsc/Sp2fs”
x-cantillationLevel=”0.0” ”strong=”8085|���/������������ x-morph=”OSHM:HVhv2fs/Sp1cs”
x-cantillationLevel=”0”� 14 ”strong=”1272|������� x-morph=”OSHM:HVqv2ms”
x-cantillationLevel=”0.1.2.0” � ”strong=”1730|�/������� x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”0.1.2” ”strong=”c/1819|�����/��� x-morph=”OSHM:HC/Vqv2ms”���/���|strong=”l”
x-morph=”OSHM:HR/Sp2ms” strong=”l/6643|������/�� b” x-morph=”OSHM:HR/Ncbsa”
x-cantillationLevel=”0.1.1” strong=”176|���� a” x-morph=”OSHM:HC” x-
cantillationLevel=”0.1.0” ”strong=”l/6082|������/�� x-morph=”OSHM:HR/Ncmsc”
”strong=”d/354|����������/��� x-morph=”OSHM:HTd/Ncbpa” x-cantillationLevel=”0.1”
strong=”5921|���� a” x-morph=”OSHM:HR” x-cantillationLevel=”0.0” ”strong=”2022|������
x-morph=”OSHM:HNcmpc” ”strong=”1314|���������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0”�

48n Marks an anomalous form.
49p We read punctuation in L differently from BHS.


